Day 2.3 Warm-Up

1. Which atom would require more energy to remove an electron: Na or CI? Explain your reasoning.
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2. Which atom would require more energy to remove an electron: Li or Cs? Explain your reasoning.
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3. Element X has the following ionization equations and ionization energies.
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a) How many valence electrons are in an atom of element X?
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b) When element X bonds with nitrogen, what is the formula of the ionic compound that is

formed? 2+ 3 =
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4. lonization energy values for the elements in the first six periods are shown below.
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a) In general, what is the ionization energy trend across a single period?
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b) Examine the data for periods 2 and 3, identify exceptions to the trend described in part (a)
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